THIVEE

AL C LK
BAMEE COD¥EE! | A(##BIA) £ A Hh 5% i i
]]
R St.2 e EXR-BEE —
—iRIEH _
KB (°C)
1 _XE [KE(CC) =B fE 2IKiR A Fiin =Xz R
48 £ 11.0 17.0 - 32.0 9.0 BE e mR
68 B4l 27.0 22.0 — 30.0 6.0 BE ) mR
8H B4l 30.3 25.0 — 29.4 8.0 BE ) mR
108 B4l 26.0 25.0 — 29.0 9.0 BE ) mR
128 & 12.5 19.6 — 30.0 13.0 BE |mE mR
2H 5] 8.0 17.0 - 30.0 13.0 BE iid) BE
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH — —
THE(75%IE) - 7.5 1.0(1.3) 1.5 <0.5 0.15 0.019
4H == 8.2 95 1.0 0.0 <0.5 0.18 0.030
hE - - - - - - -
65 =B 8.1 7.8 15 0.0 <0.5 0.14 0.015
hE - - - - - - -
8 g =B 8.2 6.9 1.3 0.0 <0.5 0.14 0.016
8.1 6.9 1.0 0.0 <0.5 0.14 0.009
10A ;E ~ = = = — — =
8.2 7.0 0.6 9.0 <0.5 0.15 0.017
128 th B = = = = — — —
25 =B 8.2 7.0 0.6 0.0 <0.5 0.16 0.026
hE - - - - - - -
BEEE (REBDHEHE)
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




FhS4H00(1,3-4n - . sea FAAL Sa s .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF [0.00221F [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF | 001LLF | 10LLF
EF_EjE — — — — — — — —
a8 - - - - - - - -
6A[ - - - - - - - -
sA[ - - - - - - - -
10R[ - g g g - - - -
128 - g g g - - - -
28 - - - - - - - -
ZOHEE
IT/— i SS LW | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EBIE - - 1 - - -
=B - - 1 - - -
—_ —_ <1 —_ —_ —_
—_ —_ <1 —_ —_ —_
—_ —_ 2 —_ —_ —_
10A ; E — — = — — —
—_ —_ 2 —_ —_ —_
12AH ; E — - — _ _ -
—_ —_ <1 —_ —_ —_
28 —2F - - 3 - - .
i iggﬁ Ry
(mg/1) (mg/1) (mg/1)
EBIE] 20000 - -
=E 21000 = =
20000 - -
20000 - -
20000 - -
10A ; E ~ — —
21000 - -
12AH ; E ~ — —
19000 - -
28 2 0 - -



THIVEE

AL C LK
e BAEE — CODER (ARER) £ K Hh 5% i i
" St4 =XR-HEn - —
—iRI5H _
K& (°C)
1 _XE [KE(CC) =E hE 2IKR A Fiin =Xz R
48 =) 12.0 17.0 17.0 33.0 9.0 BE e mR
68 Eh 29.0 22.0 20.0 33.0 5.0 BE ) mR
8H N 30.3 25.0 25.0 21.9 8.0 BE iy ) mR
10A gEh 26.0 26.0 26.0 21.0 10.5 BE |meE mR
128 & 12.5 19.5 19.5 27.0 11.0 BE |meE mR
2R 55 8.0 17.0 17.0 23.0 13.0 BE ) E;R
4FIRIEIER _ _
oH DO COD | XBEEM n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75U F | 20LLF | 1000LIF | JEietH — —
EHE(75%IE) - 75 0.9(1.0) 1.1 £0.5 0.15 0.016
4H == 8.2 9.4 1.0 0.0 <0.5 0.18 0.028
th & 8.2 9.4 0.9 4.0 - 0.16 0.027
65 =B 8.1 7.7 0.8 0.0 <0.5 0.14 0.013
th & 8.2 8.0 0.5 0.0 - 0.14 0.013
8 g =B 8.2 6.9 1.3 0.0 <0.5 0.15 0.014
th & 8.2 6.7 1.3 0.0 - 0.14 0.014
108 =B 8.1 6.7 0.9 9.0 <0.5 0.14 0.007
th & 8.1 7.6 1.0 0.0 - 0.14 0.005
128 =B 8.2 7.0 0.6 0.0 <0.5 0.14 0.016
th & 8.2 6.9 0.6 0.0 - 0.15 0.015
25 =B 8.2 6.9 0.6 0.0 <0.5 0.17 0.022
B 8.2 7.1 0.7 0.0 - 0.16 0.019
BEEE (REBDHEHA)
NP INIES DS ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BE#(E] 001LLTF | JE#H | 001LLF | 005LLF | 001LLF [0.0005LLF | JERH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
478 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
128 - - - - - - - -
28l - - - - - - - -
oyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0O0A
"y B&R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#E{E] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




FhS5490n(1,3-450 = St FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001 F | 001LLF 10LLF
E{E]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
41 - - - - - - - -
68| <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
8AH - - - - - - - -
108 <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.14
128 - - - - - - - -
2A - - - - - - - -
ZTDhIEH
RILL
Jx/—) R SS 2% |(snakiLh 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE| <002 - 2 0.006 <0.001 <0.008
=B - - 2 <0.005 - -
4H ¢E _ _ 2 _ _ _
65 =B <0.02 - A 0.005 <0.001 <0.008
e - - : ; - -
- - 3 <0.005 - -
8
Ao | - i - - -
108 == <0.02 - 2 0.008 <0.001 <0.008
b= - - | - - -
=B - - 3 <0.005 - -
12
- - A <0.005 — —
Bkt | EINERME . .
(mg/1) (mg/1) (mg/1)
E¥E] 20000 - 0.01
=B 21000 - 0.02
48 —mm [ 21000 . .
65 == 20000 - <0.01
B 20000 - -
85 == 20000 - 0.01
B 20000 - -
== 20000 - <0.01
10A thE 20000 - -
=B 21000 - <0.01
128 th S 21000 - -
25 =B 19000 - 0.02
B 20000 - -



THIVEE

AL C L&D KB
BAEE COD#E®! | A(##BIA) £ A Hh 5% i i
]]
BRE g5 | P lex-mmy - —
—iRIEE _
K& (°C)
1 _XE [KE(CC) =B hE 2IKR A Fiin =Xz R
48 £ 12.0 17.0 - 19.0 8.0 BE |meE mR
68 N 29.0 22.0 — 14.0 5.5 BE iy ) mR
8H N 30.3 25.3 — 13.1 10.0 BE |meE mR
10A gEh 26.0 25.0 — 13.0 10.5 BE |meE mR
128 & 12.8 19.4 — 13.0 13.0 BE |mE mR
2H 5] 8.0 16.0 - 30.0 11.0 BE iid) BE
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH — —
EHE(75%IE) - 7.5 1.0(1.3) 0.67 <0.5 0.15 0.017
4H == 8.2 9.2 1.0 0.0 <0.5 0.15 0.022
hE - - - - - - -
65 =B 8.1 7.9 1.3 0.0 <0.5 0.12 0.012
hE - - - - - - -
8 g =B 8.2 6.7 1.3 4.0 <0.5 0.17 0.012
8.1 6.8 1.0 0.0 <0.5 0.14 0.027
10A ;E ~ = = = — — =
8.2 7.3 0.6 0.0 <0.5 0.14 0.013
128 th B = = = = — — —
25 =B 8.2 7.0 0.7 0.0 <0.5 0.16 0.018
hE - - - - - - -
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEEH [ 0018LF [ 00580 F | 001LLF [0.0005LLF| FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
sy B THY IFLy | BAIFLY | AIAY Axsy | ITFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.002u0F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LLF | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




Fh34an|13-o4n - s oy 3os FAA Sy 45 .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EqE] 0.01LLF [o0.0020F [ 0006LLF [ 0003LLF [ 002BLF | 001LLF [ 001LLF [ 10LLF
| FIE - - - - - - - -

48 = = = - - - - -
68 - - - - - - - -
8H - - - - - - - -
10H - - - - - - - -
128 - - - - - - - -
2H - - - - - - - -
ZTDHIEE
Iz/—) i SS 2ER |soofus| LR
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE] - - 2 - - =
RE - - 2 - - -
4H ;E _ _ _ _ _ —
—_ —_ ‘I —_ —_ —_
—_ —_ 2 —_ —_ —_
8 ﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
10A ; E — — = — — —
—_ —_ 5 —_ —_ —_
124 ; E — — = — — —
—_ —_ 1 —_ —_ —_
28— - - ! - - -
Eie R | . e
(mg/1) (mg/1) (mg/1)
FEHIE| 20000 - -
=E 21000 - -
21000 - -
19000 - -
20000 - -
10A ; E ~ — —
21000 - -
124 ; E ~ — —
20000 - -
28 —2E 0 - -



THIVEE

A L C LK
2 1 J A 1 ¥Ris
e BAMEE — CODER (ARER) £ A Hh 5% i i
St.6 EXR-HEY — -
—iRIEH _
K& (°C)
1 _XE [KE(CC) =E hE 2IKR A Fiin =Xz R
48 =) 12.0 13.0 13.0 43.0 11.5 BE |meE mR
68 Eh 28.0 22.0 20.0 42.0 6.0 BE ) mR
8AH N 30.3 24.1 24.1 42.7 8.0 BE e mR
10A gEh 26.0 25.0 25.0 42.0 11.0 BE |mE mR
128 Eh 12.5 19.4 19.7 42.0 13.0 BE |mE mR
28| =Y 8.0 17.0 17.0 420 17.0 BE BE E;R
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9E (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH — —
B (75%IE) - 7.4 0.9(1.0) 0.75 £0.5 0.16 0.019
4H == 8.2 9.2 0.9 0.0 <0.5 0.16 0.021
th & 8.2 9.3 0.7 0.0 - 0.18 0.021
65 =B 8.2 8.0 0.9 0.0 <0.5 0.19 0.014
th & 8.2 7.8 0.9 0.0 - 0.13 0.012
8 g =B 8.2 6.8 1.2 9.0 <0.5 0.16 0.014
th & 8.2 7.0 1.2 0.0 - 0.16 0.014
108 =B 8.0 6.0 2.0 0.0 <0.5 0.23 0.045
th & 8.1 6.8 1.0 0.0 - 0.16 0.029
128 =B 8.2 7.0 <0.5 0.0 <0.5 0.14 0.014
th & 8.2 7.0 0.5 0.0 - 0.14 0.011
25 =B 8.2 6.9 0.6 0.0 <0.5 0.16 0.016
B 8.2 7.1 0.6 0.0 - 0.15 0.015
BEEE (REBDHEHA)
HREIHL | 2TV ED Aol IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLTF | JE#EH | 0018 F | 005LLF | 001LLF [0.0005LLF | JERRH JERRH |
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
478 - - - - - - - -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
8AH - - - - - - - -
108] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 - <0.0005
128 - - - - - - - -
28l - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S00A
Ay o IAY IFLY OaxTFLY aT4y axT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8AH - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




FhS5490n(1,3-o450 = YN FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#{E] 001LLF (000281 F | 0.006LLF | 0.003LLF | 002BLF | 001 F | 001LLF 10LLF
EfE]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.21
47 - - - - - - - -
68| <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.19
8AH - - - - - - - -
108] <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.23
128 - - - - - - - -
2A - - - - - - - -
ZTDHIEHE
RILL
Jx/—) R SS 2% |(snakiLhA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE| <002 - 2 0.008 <0.001 <0.008
=B - - 1 <0.005 = =
A om - - " - - -
65 =B <0.02 - 2 <0.005 <0.001 <0.008
b= - - < - - -
=B - - 2 <0.005 - -
]
Ao | - 3 - - -
108 =B <0.02 - 4 0.023 <0.001 <0.008
e - - 2 ; - -
- - 4 <0.005 - -
12
- - A <0.005 - -
2
Bty | EINERE . .
(mg/1) (mg/1) (mg/1)
EBIE] 21000 - 0.01
=B 21000 - 0.02
48 —mm 21000 . .
65 =B 21000 - <0.01
B 21000 - -
8 g =B 20000 - 0.01
B 21000 - -
=B 20000 - 0.02
10A thE 20000 - -
=B 21000 - <0.01
128 th [E 21000 - -
25 =B 20000 - 0.01
B 20000 - -



